20124 LASERA. 7RIt B FERERERES VX UITR
— A=

BEIHEE BAEE
JEfEL (15 33 £a JEf 85 EfE 8 JEfE 85 [R5 [oI=d
&R, B |1/8 INS 3 21 2 20 4 20 3 21 5 3 65
21480 # [ P 3 19 3 21 10 14 1 5 59
K] ES 1 REX 4 20 7 15 5 19 12 12 3 4 58
JER #H [I/5 #WEN1—RIVRHS5T 10 14 4 18 2 22 6 25 56.5
S|HhIR FEARD |FEE XL T957 2 22 6 16 7 17 55
6|+ EFE |II/B I0E3IAVNIST 7 17 5 17 12 12 4 20 9 1 55
7|&EW EX B&GHIFFi@$IST 1 23 1 23 46 *
8|fEME E# |FE# Xigte—Iro 957 1 21 2 22 43
o|#il H#EE |EF K- T 957 13 9 6 18 9 15 10 0.5 425
10|% HF =M 8 16 10 12 15 9 19 5 2 45 415
M=k % E0)= 8 14 10 14 17 7 8 15 36.5
12/hR #ER | WARtE—YoIER 8 16 6 18 34
13|E5@| B8 |II/5 INS 9 15 12 10 16 8 33
14|0# =R |MIUE EIEATN] 12 12 16 6 20 4 14 10 4 35 315
15|4EAR FHAL HREAA 6 18 11 11 29
16|88 FRL B&GEEDA=THEEITT 7 17 13 11 28
17|52 @K =N FRRIvHER 9 13 13 11 24
18|H < BA |EK K 15 9 14 8 20 4 7 2 23
19ldest E—88 [[I/B INE 1 23 23
20|FE ES B&GHIFFiE¥I5T 17 7 8 16 23
2|=H 1& (= 5 19 19
22|®R AR [I/5 INS 13 11 16 8 19
23|fh1l 4F * 5 5 19 19
P2 V=g 3 =M 14 10 15 7 17
25| #hiE I/5 ML= 7aAvI5T 9 15 15
26|8R1% & |/ TN 11 13 13
21|% 8 = BREC1=7IAVNIFT 1 13 13
28|12 ik FnFL 16 8 19 3 22 2 13
9|EELUHEA |k * 11 13 13
30|iEE BT =N 19 5 17 5 22 2 12
31| EH B BRED1=7IAVNIST 14 10 10
32| k% {B—ER |FOFCH mBpLE—I2I 957 15 9 9
BlEE —& |[iI/B INE 18 6 20 2 8
(K A |iII/8 INS 17 7 7
35|iE EiE MFWL—RIVRHS5T 18 6 6
B|ET AF—F BIRF 18 6 6
37|5kE HEED 19 5 5
38|l —il  [I/B INS 20 4 4
9|EE AR K- T957 18 4 4
40|t4E FEE [II/B INE 22 2 21 1 3
413 L =W I/8 INE 21 3 3
2|tR X RIGILBE SR 21 3 3
3|7 [/E |k * 21 3 3
UK DR =N 23 1 1
45|58 =B EWt—U I HE 23 1 1
6|ER TE K 23 1 1




